M2 Antenna Systems, Inc.
Model No: 766-6

ANTENNA SYSTEMS, INC.

~

SPECIFICATIONS:

Model .......ooovviiiii 766-6

Frequency Range....................... 746 To 790 mHz
*Gain, (FS)d ..ooveeeiieieiieeeieee, 11.8 dBi

Front to back ..........ccccoeciveeennne 18 dB Typical
Beamwidth ......cccceeviiiiiiinen. E=46° H=52°

Polarity .......cccooeeiiieeiiiieiieeen, VERT / HORZ

Feed type ....cooceeeviiieeiiiieeeee, Direct feed

Feed Impedance. ...........ccc.cc...... 50 Ohms Unbalanced
Maximum VSWR..........cccceeeenee 1.3:1 Typical

Input Connector............c.ccceee...... “N” Female

Power Handling .........ccccccovuveeenn. 500 Watts

Boom Length / Dia............cc.cc..... 25.125" /1"
Maximum Element Length.......... 7.625”

Turning Radius: .........cccccccveeeene 23"

Stacking Distance..............c........ Call Factory

Mast Size......cccoociveeiiiiieeeiiieen 1.5"to 2"

Wind area / Survival .................. 0.1 Sqg. Ft. / 100 MPH
Weight / Ship Wt.......coooivieeennee 1.5Lbs./5 Lbs.

*Subtract 2.14 from dBi for dBd / FS = Free Space

FEATURES:

The 766-6 Commercial antenna, has been designed to give you optimum performance for the smallest package size. The
5/16” element design decreases the effects of rain and light snow deterioration often seen in similar antennas.

The heart of the 766-6, the folded dipole, provides a virtual flat match for over 44 MHz. The gain has been designed to roll
-off quickly above range limits to prevent receiver overload from high power services above 790 MHz. The heavy duty
boom and 5/16” elements, give installation services the confidence for superior performance and longevity.

The 766-6 is a DC grounded antenna designed to work with many radios.

M2 Antenna Systems, Inc. 4402 N. Selland Ave. Fresno, CA 93722

Tel: (559) 432-8873 Fax: (559) 432-3059 Web: www.m2inc.com

10/02/15

©2015 M2 Antenna Systems Incorporated Rev.00



766-6 DIMENSION SHEET

ELEMENT SPACING ELEMENT LENGTH

0

6.312

11.035

20.049

24.312

25125

-0
* |-
LOCKWASHER,1/4,SS

NUT,1/4-20,SS

!
U-BOLT J p:
UNI CRADLE

' & ] - 7.625

[ . ] - - B.750

L < I 6.250

. R i 6.1875

M? ANTENNA SYSTEMS, INC.
4402 N. SELLAND AVE.
FRESNO, CA 93722
(559) 432-8873 FAX: 432-3059
www.mz2inc.com Email: sales@mz2inc.com



(€251 6T-TT-600C |0/5 [19:0 |01 | Sedj

i|EE8] ZHl 008 dolg ZHA O£ Madl ZHIN Ob£L 3E1S
h V4 Av4 AV Q0 "0%5-
00 "0 -
< T
O £ 00 0~
- 340 P
all 8pop Jexely Jay 00 *0T-
J33.1eln] 19y
R <~ JI)Iel
W qooo-o
nuall
S Jaxsel es)d
V Q00T
JE S8y
| SiaMElA 310 00 "0¢
£ Jpen
ap TTT'OT- ZHW 026T6 28. p<| 00 OF
P £vE£°9T- ZHW 00000 "£8. £
gap 29Z°2¢Z- ZHW 00000 99, ¢
ap 827°TZ- ZHW 00000°9v. T |

T Janepy
[T4] 9p000 0 424 /9p00 0T Hew Hod T1s N4

ZHIW 00026T6'28Z] v 1oven

BIS ASUI S SISARUR MW b SNINWNS £ asuodsay z  @3R41fyD SAIY |

1azAjeuy y10MIaN D1L£067 K




766-6 PARTS & HARDWARE

DESCRIPTION.....oiiiiiiiiiiiiiiie e QTY
766-6 ANTENNA ASSEMBLY ..o 1
UNI-CRADLE ... 1
U-BOLT,SS 27 ..ottt et 1
ASSEMBLY MANUAL ..ottt e 1
HARDWARE:

LOCKWASHERS, 1/4”, SS ...ttt 2
NUT, 1/4-20, SS ...t 2

M? ANTENNA SYSTEMS, INC.
4402 N. SELLAND AVE.
FRESNO, CA 93722
(559) 432-8873 FAX: 432-3059
www.mz2inc.com Email: sales@mz2inc.com




